Kickstand Quick Start Guide

~
Remove and Discard

- Top Handle Screws (2)

« Stylus and Tether

« Stylus Clips (2) and Screws (2)

Note: Do not remove
top handle screws
from other side

4 Installation
Install kickstand using supplied screwdriver only

G®@
WARNING:
Do not over tighten
M2 x 4 screws. Make 4
turns and immediately stop
when resistance is felt.

.

%002

/' \

Package Contents:
(DKickstand
(2)M2.5 x 5 Screws (8)
(3)Plate
(4)Shoulder Screw (1)
(5)M2 x 4 Shoulder Screws (2)
(6)M3 x 12.7 Silver Screws (2)
(7)Screwdriver

/

For handle installation use
the two longer silver
screws provided.

\

J

Notice: The information in this publication is subject to change without notice.
Xplore Technologies Corp shall not be held liable for technical or editorial errors
or omissions contained herein nor for accidental or consequential damages
resulting from the furnishing, performance, or use of this material.

Copyright © 2003-2015 Xplore Technologies Corp. All rights reserved

Safety and Regulatory: For safety and regulatory information, see the Safety
and Regulatory section in the users handbook packaged with your Tablet PC.

PN: 95-02017

~




Trépied - Guide de démarrage rapide

Installer le trépied a 'aide le tournevis fourni seulement

®@
AVERTISSEMENT:
Ne pas serrer trop fort
les 4 vis M2. Stopper le
serrage dés qu’une résistance
se fait sentir (4 tours max.)

.

%002

M~ ] ™~
Déposer et jeter
+ Poignée (2 vis)
« Stylus et Sangle
« Stylet Clips (2 vis)
Remarque: Sur la
poignée supérieure,
les vis de la face
opposée ne doivent
pas étre 6tées
" Installation h

Contenu du Paquet:
(D Trépied
(2)Vis M2.5x 5 (8)
(3)Plaque
(4)Vis a épaulement (1)
(B)Vis M2 x4 (2)
(6)Vis argentées M3 x 12.7 (2)
(7) Tournevis

/

Pour installer la poignée,
utiliser les deux vis plus
longues fournies.

\

Avis: Informations données a titre indicatif et susceptibles de modification
sans préavis. La société Xplore Technologies Corp. ne peut étre tenue
responsable ni pour les omissions ou erreurs techniques, ni pour les accidents
ou dommages résultant d'une mauvaise utilisation de ce matériel.

Copyright® 2015 Xplore Technologies Corp. Tous droits réservés.

Sécurité et réglementation: Les informations relatives a la sécurité et aux
différentes réglementations sont disponibles dans le manuel Utilisateur qui
accompagne cette Tablette PC.

PN: 95-02017




